1. Series-

NUMBER SERIES
This chapter consists of questions in which series of numbers or alphabetical letters or combinations of both are
given, which are generally called the terms of the series. These terms follow a certain pattern throughout the
series. The candidate is required to study the given series, identify the pattern followed in the series and either
complete the given series with the most suitable alternative or find the wrong term in the series.
Solved Examples )

Direction : In each of the following questions, various terms of a number series are given with one term missing
as shown by [ ? . Choose the missing term out of the given alternatives

Ex.1 5,7, 13,23,7
(1) 25 2) 27 {3) 29 (4) 41
Sol. The difference between prime numbers is increasing. 7 is next prime to 5; 13 is second to next prime to 7; 23
is third to next to 13. Hence, next should be fourth to next prime to 23. Hence, required number is41.
Hence the answer is (4)
Ex.2 4,8, 16, 32, 64,7, 256
. {128 ) . (2)98 — . 1386 . . (42106
Sol. The numbers are multiplied by 2 to get the next number : 64 x2 = 128
Hence the answer is (1) )
Ex.3 3,6,9,12, 15,7, 21 :
(116 . 217 (320 (418
Sol. The differerice between the numbers 83.15+3=18
" Hence the answer is {4)
Ex.4 17,626,37,50,65,7, 101 ' ,
(182 275 : (378 © {4)90
Sol. (1) The series s 4% + 1,58+, 6+ 1,72+ 1,8+ 1. | '
* 7" The next number is 9%+ 1'= 82 )
Hence the answer is {1)
‘ALPHABET SERIES
In this type of questions, a series of single, pairs or-groups of letters or combinations of letters and numerals is
given. The terms of the series form a certain pattern as regards the position of the letters in the English
alphabet. The candidate is required to decipher this pattern and accordingly find the missing term or the wrong
term in the given series.
Solved Examples .
Direction : In each of the fo!lov&ing questions, various terms of a letter series are given with one term missing as
shown by [ 7 ]. Choose the missing term out of the given alternatives
Ex5 B,C,A/D,ZE,?2EX,G : -
, mu Sy T @w @y
Sol. The sequénce consists of two seties B, A, Z Y, XandC,D,E, F, G. The mxssmg letteris Y. - -
* Hence the answer is (2}
"Ex.6 EZ, DX, CV,? AR, ZP Co - ‘ :
mes . (9AM o @s_Tr @) TG
Sol. First and second letters follow a sequence of — 1-and - 2 respectively. :
Hence the answer is (3}
Ex.7 DIE, XCY, RWS, ? ‘ _
(1) LQN (2)QMP (3)LMS » (4)LQM
Sol. First, second and third letters of each group follow a sequence of ~ 6 series.»

Hence the answer is {4}



ALPHA - NUMERIC SERIES o
of questions of Type 1 and Type 11, which you have just read. Here,

This type of questions is just a jumbled form }
which move according to @ set pattern.

the terms of the given series are a combination of letters and numerals,
' Solved Examples

Direction : In each of the following questions, various terms of an alphanum
more terms missing as shown by (?). Choose the missing terms out of the given a

erical series are given with one or
lternatives.

Ex.8 275,7Y7,14X9, 23W11, 34V13,?

(1) 27U24 ' {2) 45U15 - (3)47U15 (4)45V14
Sol. First numeral - 2, 7, 14, 23,34 (+ 5, + 7, + 9, + 1L.})

Second letter - ZYXWV ( decreases by 1 each time)

Third numeral - 5,7,9,11,13 ( increases by 2 each time)

So the missing term is47 U 15 '

Hence the answer is (3)

Ex.9 W-144  U-121,S-100,Q-81,? _

(1) P-64 (2) U-122 } © (31064 : {4y v-128
 Sol.._ First ltter- decreases by 2 each time v |
Second numeral- square of 12,1 1,1—0,9_,_8— L o T
So the missing term is O -64
Hence the answer is (3)’ o - _ o

CONTINUOUS PATTERN -
nsists of a series of small letters which follow a certain pattern. Howéver, some

This type of questions usually co
letters re missing from the series. These missing letters are then given in a proper sequence as one of the

alternatives. The candidate is required to choose this alternative as the answer.
~ Direction : In each of the followirg letter series ,some of the le
-~ - one the alternatives below it . Choose the correct__.altemaﬁveé... U Y
Ex102b_ _baa__ab. ‘ : | _
(1) aaaaa
Sol. Here series aba is repeated
Hence the answer is (2)
Ex.112ab_aa_bbb_aaa_bbba

tters are missing which are given in that order as

'(2) aébaa * (3) caabab . - : (4) baabb

(1) abba - (2) baab (3) aabb - {@)abeb y
Sol. The series is abb / aaabbb / aaaabbbb / a. Thus the letter.are repeated twice, then thrice , then four times and
soon. o - : ' : A — '
Hence the answer is (2)
Ex12 _bccaabacca o . o | - »
(1) abcbb s - (2)bbbee " (3)bacba . ~ {djabbee "

Sol. The serles is abc/ bea 7 cab?/-abc / bea. Thus the lefter change in cyclic order.

Hence the answer is (1).



'EXERCISE

Directions {(Q1 to Q15) : Find the missing terms (?);
1. 281832°? ' '

me2 @60 350 T w6
2. 14,316,536, 764, ? . |
(1)981 (21048 38110 4) 9100
3. 811,15 22 33, 51,7 127, 203 | |
(1) 80 (253 (358 (4) 69
4. 1,2,9,4,256,? ‘ o
st (2)49, 350 @47
5. 824,16,2,7,14,6,18,12,5,5, 10 o )
(1) 14 (210 - (3)7 @5
6. 2,12,36,80,150,7 : e i
194 © (2210 S @22 . (4)258
7. 2,5,10,17, ?,37 T o
127 | (2) 24 @ @28
8. 2,10,40,120,7 R o -
Comamo . @360 (3470 L @e210
9. 1,23 10,2,9802 o I
(1199 (2999 9 wes
10. 81528582,19 o~ ) |
mwe @1 @2 @103
11. JXG,HTJ, FPN, ?, BHY ~ '
. (DEKS. «  (ELS  (3)DRL. . @DLS,
12. B2E, D5H, F12K, H27N, ? - o o
S W8 (2156Q L (31457Q - (@dsep
13. MTH,QRK,UPN,YNQ,? = .
(1) CKT (2)CLT C@ET @EKT
14. B3ME7J,HISG,K3ID,? o - D
| 'fl(l)N65A . (@08e8a . (3Nesa . o (4) N63Z
15 SXOBU12, ] 11RI5, 140187« . SR
B 17L21 @ 17R21 T @) 17M2r {17123
,Dnrection(Q 16toQ 21) ﬁndﬁzewongtenﬁs{?} T e
16. 5,11, 15, 23 39,70,135 | Coe T N
M2 @3 - @ L @8
17, 3.9,36, 72 216 864, 1798, 368 e
(1) 3468 (21728 . (3864 w6



18 1.2.6-15,31,56,91 = ” £
(1) 31 @15 Co@se . @el
19. 2,5, 10,17, 26, 37, 50, 64 o . g
(W5 (226 - @6 @17
20. DKY, FJW, HIT, JHS, LGQ : ‘
WEW P @ @HIT
21. DVG, FSI, HPK, JNM, LJO
(1) DVG . (@M (3)HPK | @LIo

Directions (Q.22 & Q. 23) : In each of the following questions, a number series is given. Aften series, below it in the
next line, a number is given followed by (P), (Q), (R}, {S) and (T). You have to complete the series starting with- the
number given following the sequence of the given series. Then answer the question given b_elow it.
22. 2 3 8 27 B | ’

5 P @ ® & D

Which of the following numbers wxll come in place of (T} ?

* (1) 184 @6 . (3925
23, 5 18 48 112 '
7 B Q@ ®R O -

Which number will come in pIace of (S) ?_> ' _

(1172 @26 @270
Directions (Q.24 to Q. 30} : Which sequence ¢ of letter when placed at the blanks one aﬁ‘er the other will complete ‘
the given letter series ?° . . N . - 4 ‘ -
24. aabbaabb ) '

{)bbaa . . .. (2baba .. Blbaab - .
25. a__b_a_ab_aa‘. .‘ . |
~ (Dabaab ~ ‘(2bbaba ~ (3bbabb
26. a;bbc_aab;cca_bbcé; - I ‘

(IJbace  (Jacka = (3abba
217. ‘be__bb_aabe o ) » ’ ‘V ,
. {Tyacac @ babc o (3) abiab
28. bccacaabbabcc%_ ' - .
(asbca - . (Zabaca (3) bacab
9. st 4. . 8
Comss @t @st st
30. _op_mov_n'_,_;pnmbp__ ' t S o @ B
’V(I)mnpmon o (7)) fnpnmop (3) fnnompn ; (§mnpon'm .

EXERCISE =




